M = 0 & L &£ A
SIS : 2008
RETREE
518 . Fea=xmzsEs 2
SN EB O MR DS 0l &k 04 1A ofl &k Hnz2 N
= 7 1,650,000 1,550,000 100,000
NS = AFDH 1,650,000 1,550,000 100,000
SO0{E ASIIB X4 1,650,000 1,550,000 100,000
SASTE &S SH(xe2SHEISS 1,650,000 1,550,000 100,000
=plASKEII2 81 325,440 361,600 £36,160
201 2Br2 o] 1,440 1,600 A160
1,440 1,600 A160[01 At 2l A 160
O1. 2848l A 160
_EOIASTIRIIZ B2UINE RO(H)
257 1,440,008 - JIE 1,600,0002= A 160
501 X2 324,000 360,000 £36,000
324,000 360,000 £36,000(01 CI2HSX2 £36,000
OFDILENE SIHE)
27 324,000,002 - JI= 360,000,0002= £36,000
ol b1 Bl 1,304,560 1,188,400 136,160
801 0l bl 1,304,560 1,188,400 136,160
1,304,560 1,188,400 136,160 (01 0ilHIH] 136, 160
OFCIASAIIZ OiHIbl
27 1,324,560,0002 - JIE 1,188,400,0008= 136,160
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